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General Instuctions :

(i) Answer all the questions. Marks are indicated against each question.

(ii) Answers to questions carrying 2 marks should not exceed 30 words
each.

(iii) Answers to questions carrying 5 marks should not exceed 100 words
each.

(iv) Answers to questions carrying 8 marks should not exceed 250 words
each.

(v) Attach the maps with the answer scripts.

(vi) Stencils or templates for drawing outline maps may be used wherever
necessary.
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� Please check that this question paper contains 10 printed pages + 3 Maps.

� Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the condidate.

� Please check that this question paper contains 23 questions.

� Please write down the serial number of the question before attempting it.

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 10 + 3 ekufp=k gSaA

� iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 23 iz'u gSaA
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lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) lHkhlHkhlHkhlHkhlHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds lkeus fy[ks gSaA

(ii) 22222 vad okys izR;sd iz'u dk mÙkj 3030303030 'kCnksa ls vf/kd u gksA

(iii) 55555 vad okys izR;sd iz'u dk mÙkj 100100100100100 'kCnksa ls vf/kd u gksA

(iv) 88888 vad okys izR;sd iz'u dk mÙkj 250250250250250 'kCnksa ls vf/kd u gksA

(v) ekufp=k viuh mÙkj&iqfLrdk ds lkFk layXu dhft,A

(vi) tgk¡ dgha vko';d gks LVS aflyks a vFkok lkapks a dks js[kk&ekufp=k cukus ds fy,
bLrseky fd;k tk ldrk gSA

Modern India

vk/kqfud Hkkjrvk/kqfud Hkkjrvk/kqfud Hkkjrvk/kqfud Hkkjrvk/kqfud Hkkjr

1. Explain briefly any two achievements of the Saiyid brothers. 2

lS;n cU/kqvksa dh fdUgha nks miyfC/k;ksa dks la{ksi esa Li"V dhft,A

2. Explain briefly any two causes for the growth of militant nationalism in the

Indian National Movement. 2

Hkkjrh; jk"Vªh; vkanksyu esa mxz jk"Vªokn ds fodkl ds nks dkj.kksa dks la{ksi esa Li"V dhft,A

3. Mention briefly any two basic principles of the Indian Constitution. 2

Hkkjr  ds lafo/kku ds fdUgha nks ewy fl)kUrksa dk la{ksi esa mYys[k dhft,A

4. State the general condition of peasants during the first half of 19th century.

What made many of the peasants to join the Revolt of 1857 ? 2+3=5

méhloha lnh ds iwokZ)Z esa fdlkuksa dh lkekU; fLFkfr dk mYys[k dhft,A 1857 ds fonzksg esa

vusd fdlkuksa ds lfEefyr gksus ds D;k dkj.k Fks \

5. Why was the Act of 1858 passed by the British Parliament ? Explain  three

main features of this Act. 2+3=5

OR

Explain the main three causes which led to the Nepal War of 1814. Also explain
any two main consequences of the war. 3+2=5
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fczfV'k laln }kjk 1858 dk vf/kfu;e D;ksa ikfjr fd;k x;k\ bl vf/kfu;e dh rhu izeq[k

fo'ksKrkvksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

1814 ds usiky ;q) ds izeq[k rhu dkj.kksa dh O;k[;k dhft,A bl ;q) ds fdUgha nks izeq[k

ifj.kkeksa dks Hkh Li"V dhft,A

6. Explain how did the 19th century reform movements contribute to the
national awakening in the country ? Name any two main reform movements

of this period. 3+2=5

Li"V dhft, fd méhloha 'krkCnh ds lq/kkj vkanksyuksa us ns'k esa jk"Vªh; psruk iSnk djus esa

viuk ;ksxnku dSls fn;k\ bl ;qx ds fdUgha nks izeq[k lq/kkj vkanksyuksa ds uke dk mYys[k

dhft,A

7. Critically evaluate the basis of struggle against the INA trial after the Second

World War. Also explain two main implications of the struggle. 3+2=5

OR

Assess the significance of Civil Disobedience Movement (1930-1934) to India’s
struggle for independence. 5

f}rh; fo'o ;q) ds ckn vkt+kn fgUn QkSt (INA) ds fo#) eqdnek pyk, tkus ds fojks/k esa

gq, la?k"kZ dk vkykspukRed ewY;kadu dhft,A bl la?k"kZ ds nks izeq[k fufgrkFkks± dks Hkh Li"V

dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr ds LorU=krk la?k"kZ esa lfou; voKk vkanksyu ¼1930&1934½ ds egÙo dk ewY;kadu

dhft,A

8. Examine the main causes for launching the Non-Cooperation Movement. Why

was the movement suspended in 1922 ? 3+2=5

OR

Examine the main achievements of the Congress ministries of 1937. Mention
two states where such ministries had been formed. 3+2=5
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vlg;ksx vkanksyu izkjEHk fd, tkus ds izeq[k dkj.kksa dh leh{kk dhft,A 1922 esa bl vkanksyu

dks LFkfxr dj fn;s tkus dk D;k dkj.k Fkk\

vFkokvFkokvFkokvFkokvFkok

1937 ds dkaxzsl eaf=keaMyksa dh izeq[k miyfC/k;ksa dh leh{kk dhft,A ,sls nks jkT;ksa ds uke fyf[k,

ftuesa dkaxzsl eaf=keaMy xfBr gq, FksA

9. Explain any two reasons for Anglo-French struggle in South India. Also explain

four causes for the success of the British in this struggle. 2+6=8

OR

Why was Pitt’s India Act passed in 1784 ? Explain the main provisions of

this Act. 2+6=8

nf{k.k Hkkjr esa vaxzstksa vkSj Ýkalhfl;ksa ds chp la?k"kZ ds fdUgha nks dkj.kksa dh O;k[;k dhft,A

bl la?k"kZ esa vaxzstksa dh lQyrk ds pkj dkj.kksa dh Hkh O;k[;k dhft,A

vFkokvFkokvFkokvFkokvFkok

1784 esa fiV dk Hkkjr vf/kfu;e ¼fiV~l bafM;k ,DV½ D;ksa ikfjr fd;k x;k\ bl vf/kfu;e

ds izeq[k izko/kkuksa dh O;k[;k dhft,A

10. What is meant by the system of separate electorates ? When was the system

introduced in India ? Describe the main implications of the system 2+1+5=8

OR

Describe how did foreign domination contribute to the rise of Indian nationalism

in the late 19th century ? Mention any two main nationalist organizations of

the time. 6+2=8

i`Fkd~ fuokZpd iz.kkyh dk D;k vk'k; gS\ Hkkjr esa ;g iz.kkyh dc izkjEHk gqbZ\ bl iz.kkyh ds

izeq[k fufgrkFkks± dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

méhloha 'krkCnh ds var esa Hkkjrh; jk"Vªokn ds mRFkku esa fons'kh izHkqÙo ds ;ksxnku dk o.kZu

dhft,A ml ;qx ds fdUgha nks izeq[k jk"Vªoknh laxBuksa ds uke fyf[k,A
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11. Read the following passage and answer the questions that follow :

In a famous article in his weekly journal, ‘Young India’ Gandhiji wrote : “Non-

violence is the law of our species, as violence is the law of the brute”, but that

“where there is only a choice between cowardice and violence .... I would

rather have India resort to arms in order to defend her honour, than that she

should, in a cowardly manner, become or remain a helpless witness to her own

dishonour.”

11.1 In which context Gandhiji wrote this article ?

11.2 When can one resort to violence according to Gandhiji ?

11.3 What were Gandhiji’s ideas about non-violence ? 2+2+4=8

OR

What is referred to as the ‘Jallianwala Bagh massacre’ ? When did it take

place ? Describe its impact on the national movement. 2+1+5=8

fuEufyf[kr vuqPNsn dks if<+, vkSj mlds var esa iwNs x;s iz'uksa ds mÙkj fyf[k, %

vius izfl) lkIrkfgd i=k ^;ax bafM;k* esa ,d izfl) ys[k esa xka/khth us fy[kk % ^^vfgalk

gekjh ekuo tkfr dk dkuwu gS] tSls fd fgalk i'kqvksa dk gS fdUrq tc dk;jrk vkSj fgalk

ds chp pquko djuk gks --- rks Hkkjr dks dk;jrkiwoZd vius vlEeku dk vlgk; lk{kh

cuus dh vis{kk vius lEeku dh j{kk ds fy, gfFk;kjksa dk mi;ksx djuk gksxkA

11.1 xk¡/khth us mi;qZä ys[k fdl lanHkZ esa fy[kk \

11.1 xk¡/khth ds vuqlkj dksbZ fgalk ij dc mrk: gks ldrk gS \

11.1 vfgalk ds ckjs esa xk¡/khth ds D;k fopkj Fks \

vFkokvFkokvFkokvFkokvFkok

^tfy;kokyk ckx gR;kdkaM* ls D;k rkRi;Z gS\ ;g ?kVuk dc ?kVh Fkh\ jk"Vªh; vkanksyu esa blds

izHkko dh O;k[;k dhft,A
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12. On the given political outline map of India, mark and name any five princely
states in 1947.                                                                                                  5

OR
On the given political outline map of India, mark and name the following
centres of revolt of 1857. 5
12.1 Jhansi
12.2 Barrackpore
12.3 Meerut
12.4 Delhi
12.5 Arrah

Hkkjr ds layXu jktuhfrd js[kk&ekufp=k esa] 1947 esa fo|eku Hkkjr dh fdUgha ik¡p nslh fj;klrksa

dks vafdr dhft, vkSj muds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr ds layXu jktuhfrd js[kk&ekufp=k esa 1857 ds fonzksg ds fuEufyf[kr dsUnzksa dks vafdr dj

muds uke fyf[k, %

12.1 >k¡lh

12.2 cSjdiqj

12.3 esjB

12.4 fnYyh

12.5 vkjk

Note : The following question is only for the Blind Candidates in lieu of
Q. No. 12.

Mention any five princely states in 1947. 5

                                OR

Mention any five centres of revolt of 1857. 5

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks a ds fy, iz'u 12 ds LFkku ij gSA

1947 esa fo|eku fdUgha ik¡p nslh fj;klrksa ds uke fyf[k,A

                   vFkok                   vFkok                   vFkok                   vFkok                   vFkok

1857 ds fonzksg ds fdUgha ik¡p dsUnzksa ds ukeksa dk mYys[k dhft,A
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Contemporary World History
ledkyhu fo'o bfrgklledkyhu fo'o bfrgklledkyhu fo'o bfrgklledkyhu fo'o bfrgklledkyhu fo'o bfrgkl

13. Mention any two points of the famous ‘Fourteen Points’ of peace proposal of

Woodrow Wilson. 2

oqMjks foYlu ds 'kkfUr izLrko ds izfl) ^pkSng lw=kksa* esa ls fdUgha nks lw=kksa dk mYys[k dhft,A

14. What was the ‘Phoney War’ with reference to the Second World War ? 2

nwljs fo'o ;q) ds lanHkZ esa ^okd ;q)* ¼Nn~e ;q)½ ls D;k vfHkizk; Fkk \

15. Mention any two changes that took place in Soviet Union shortly after the

death of Stalin. 2

LVkfyu dh e`R;q ds rqjUr ckn lksfo;r la?k esa gq, fdUgha nks ifjorZuksa dk mYys[k dhft,A

16. Why was the invention of aeroplanes considered to be a breakthrough in the

field of science and technology ? 2

OR
Mention any two features of renaissance in Asian literature. 2

foKku vkSj rduhdh ds {ks=k esa ok;q;ku ds vkfo"dkj dks ,d fo'ks"k egÙoiw.kZ ?kVuk D;ksa ekuk

tkrk gS \

vFkokvFkokvFkokvFkokvFkok

,f'k;kbZ lkfgR; esa iqutkZxj.k dh fdUgha nks fo'ks"krkvksa dk mYys[k dhft,A

17. When and by whom was the manifesto of Communist Party written ? 2

OR
In what way has technology helped in the proper distribution of perishable

goods in distant places ? 2

dE;qfuLV ikVhZ ds ?kks"k.kk&i=k dh jpuk dc vkSj fdlus dh Fkh\

vFkokvFkokvFkokvFkokvFkok

'kh?kz u"V gksus okyh lkexzh dks nwjLFk LFkkuksa esa leqfpr forj.k esa rduhdh us fdl izdkj

lgk;rk igq¡pkbZ gS\
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18. Why was the exhibition of rejected paintings held in France in 1861 ? 2

OR
How does the ability to split the atom spell disaster as well as prove a boon to

mankind ? 2

1861 esa Ýkal esa cfg"Ñr fp=kksa dh izn'kZuh D;ksa vk;ksftr dh xbZ Fkh\

vFkokvFkokvFkokvFkokvFkok

ijek.kq dks fo[kafMr dj ldus dh ;ksX;rk euq"; ds fy, fouk'kdkjh gksus ds lkFk&lkFk ojnku

Hkh fdl izdkj fl) gqbZ gS\

19. Explain the meaning of contemporary history and any three of its characteristics.3+2=5

OR
Explain the causes of Russian revolution and two of its impacts on the

world. 3+2=5

ledkyhu bfrgkl dk vk'k; Li"V dhft,A bldh fo'ks"krkvksa esa ls fdUgha rhu dh O;k[;k

dhft,A

vFkokvFkokvFkokvFkokvFkok

:lh Økafr ds dkj.kksa dh rFkk fo'o ij iM+s blds nks izHkkoksa dh O;k[;k dhft,A

20. What was the Poland Question which led to the Second World War in September

1939 ? Why was the Soviet Russia reluctant to help Poland ? 3+2=5

OR
What is meant by the ‘Negritude’ Movement ? Explain any three main outcomes

of this movement. 2+3=5

iksySaM eqík D;k Fkk ftlds ifj.kkeLo:i flrEcj 1939 esa f}rh; fo'o ;q) izkjEHk gqvk \

lksfo;r :l iksySaM dh lgk;rk djus esa D;ksa f>>d jgk Fkk \

vFkokvFkokvFkokvFkokvFkok

^usxzhP;wM* vkanksyu dk D;k vk'k; gS\ bl vkanksyu ds fdUgha rhu izeq[k ifj.kkeksa dh O;k[;k

dhft,A
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21. Critically examine the basis of war in Korea soon after the Second World War

and name two foreign countries involved in the war. 3+2=5

f}rh; fo'o ;q) ds rqjUr ckn dksfj;k ds ;q) ds vk/kkj dh vkykspukRed leh{kk dhft, rFkk

bl ;q) esa my>s fdUgha nks fons'kh jk"Vªksa ds uke fyf[k,A

22. When did the US formally join the Second World War ? Mention the incident

which compelled her to join the war. Explain the US attitude to the war before

joining it. 1+2+5=8

OR

Give the basic objectives of Non-Aligned Movement as laid down at the first

conference. What is the relevance of NAM today ? 4+4=8

la;qä jkT; vesfjdk f}rh; fo'o ;q) esa vkSipkfjd :i ls dc lfEefyr gqvk \ ml ?kVuk dk

mYys[k dhft, ftlls og ;q) esa 'kkfey gksus dks ck/; gqvkA ;q) esa 'kkfey gksus ls iwoZ ;q)

ds izfr vesfjdk ds n`f"Vdks.k dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

xqV&fujis{k vkanksyu ds izFke lEesyu esa mn~?kksf"kr mlds ewy mís';ksa dk mYys[k dhft,A bl

vkanksyu dh vkt D;k izklafxdrk gS\

23. On the political outline map of Asia mark and name any five British colonies

in 1914. 5

OR

On the political outline map of Europe mark and name any two allied countries

of Germany, two of Britain and one neutral country in 1914. 5

,f'k;k ds jktuhfrd js[kk&ekufp=k ij 1914 esa fczVsu ds fdUgha ik¡p mifuos'kksa dks vafdr dj

muds uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

;wjksi ds jktuhfrd js[kk&ekufp=k ij 1914 esa teZuh vkSj fczVsu ds nks&nks fe=k jk"Vªksa rFkk ,d

rVLFk jk"Vª dks vafdr dj muds uke fyf[k,A
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Note : The following question is only for the Blind Candidates in lieu of

Q. No. 23.

Mention any five British colonies in Asia in 1914. 5

                                     OR

Mehtion any two allied countries of Germany, two of Britain and one neutral

country in 1914. 5

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks aus=kghu ijh{kkfFkZ;ks a ds fy, iz'u 23 ds LFkku ij gSA

fczVsu ds 1914 esa ,f'k;k esa fLFkr fdUgha ik¡p mifuos'kksa ds uke fyf[k,A

                     vFkok                     vFkok                     vFkok                     vFkok                     vFkok

1914 esa teZuh vkSj fczVsu ds nks&nks fe=k jk"Vªksa rFkk ,d rVLFk jk"Vª dk uke fyf[k,A
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